Jr. Newton Talent Search Examination - 2011-12

Practice Paper - 1
STANDARD - IIT

Total Marks : 200

Time : 2 hrs.

Section I : Language (20 Questions, 40 Marks)

Passage :

Once upon a time there was a prince who
wanted to marry a princess; but she would
have to be a real princess. He traveled all
over the world to find one, but nowhere could
he get what he wanted. There were many
princesses, but it was difficult to find out

whether they were real ones.

There was always something about them that
was not as it should be. So he came home
again and was sad, for he would have liked
very much to have a real princess. One
evening a terrible storm came on; there was
thunder and lightning, and the rain poured
down in torrents. Suddenly a knocking was
heard at the city gate, and the old king went
to open it. It was a princess standing out there
in front of the gate. But, good gracious!

What a sight the rain and the wind had made
her look. The water ran down from her hair
and clothes; it ran down into the toes of her
shoes and out again at the heels. And yet she
said that she was a real princess.

Well, we’ll soon find that out, thought the old
queen. But she said nothing, went into the
bedroom, took all the bedding off the bed,
and laid a pea on the bottom; then she took
twenty mattresses and laid them on the pea,
and then twenty down blankets on top of the
mattresses. On this the princess had to lie all
night. In the morning she was asked how she
had slept.

“Oh, verybadly!” said she. “T have scarcely
closed my eyes all night. Heaven only knows

Q.3.

what was in the bed, but I was lying on
something hard, so that I am black and blue

'3'}

all over my body. It’s horrible

Now they knew that she was a real princess
because she had felt the pearight through the
twenty mattresses and the twenty down
blankets.

Nobody but a real princess could be as
sensitive as that.

So the prince took her for his wife, for now
he knew that he had a real princess; and the
pea was put in the museum, where it may still
be seen, if no one has stolen it.

What made the prince so sad?
0OO]6)

1) He was black and blue all over

2) He wanted to have areal princess

3) There was a terrible storm

4) He couldn’t sleep at night

In the sentence, “One evening a terrible
storm came on; there was thunder and
lightning, and the rain poured down in
torrents.” what does the word torrents
mean? DO20®
1) Arainbow

2) Ahurricane

3) Adownpour of heavy rain

4) A snowstorm

What did the old queen first think of the
princess? 0016
1) The queen did not believe she was a real
princess

2) The queen was scared of the princess




Q. 4.

Q.5.

Q. 6.

Q.8.

Q.9.

Q. 10.

Q. 11.

3) The queen knew she was a real princess
4) The queen thought the princess looked
tired

Why was it difficult for the princess to
sleep through the night? 00O
1) She had a very long day

2) She was all wet from the storm

3) She was cold and wet

4) She felt was lying on something hard

How does the reader of this story know
that the prince married a real princess?

0006

2) Areal princess wears a crown

1) Her mother was a queen

3) Areal princess is very sensitive
4) She looked just like a real princess

The word opposite in meaning to — fall is
- 0OO]6)
1) tall 2)up

3) sit 4)rise

If you rearrange the following letters to
form a word, the word will be —

‘tarfe’ D@
1) falter 2) refer

3) after 4) taref

Which of the following words rhymes with
‘head?’ D@
1) bead 2)read

3) bed 4) seed

The correct meaning of ‘dispute’ is —

1) to keep away D@
2) to throw

3) aplace to keep things neatly
4) a fight or disagreement.

Complete the phrase — as pretty as a ----

------ - olelolo
1) tree 2) picture
3) star 4) moon.

The small boy ran up the hill.” Which is
the adjective (describing word) from this

sentence? 0016
1) small 2)up
3)ran 4) hill

Q. 12.

Q.13.

Q. 14.

Q. 15.

Q. 16.

Q.17.

Q. 18.

Q. 19.

Q. 20.

Rearrange the words to form a
meaningful sentence. 0016
Eat my likes sister to apples.

The third word of this sentence will be —

1) eat 2) likes
3) my 4) apples.

Which punctuation mark will you use at
the end of the following sentence?
Where does your father work DQ QR @

1)? 2).

3)! 4),

Which of the following words has a silent
letter? 00O
1) ferry 2) calculation

3) science 4) scholar

How many pronouns are there in the
following lines?

‘The king and Queen went for a walk in the
garden. They saw many trees. It had fruit
trees and they were full of fruits. The king

said he was pleased to see them. (D QB @

1)4 2)5

3)2 4)6

The home of a pig is a— 0016
1) shed 2) coop

3) sty 4) kennel.

Find the odd man out — 0016
1) boxes 2) bunches

3) children 4) paper.

Which phrase will you use to describe
someone who is very fair— Q3@
1) As pretty as a peacock.

2) As while as snow

3) As good as an apple.

4) As proud as a peacock.

Which word cannot be formed using the
letters from the word ‘flower’ QR @

1) word 2) flow

3) low 4) few.

The masculine gender of niece is ------—--
0000

1) niecess 2) nephew

3) nophew 4) horse.




Q.1

Q.3

Q.6

1eT 1 - TSI (20 99T, 40 301)

IR e Aecs i oI IS, oieh 3Te
HHM feficll shiassigeieh HiHesdal Sie, T8Sch.
T ST Jaa. el AU R Higl
oo SHAN. W B AU ST fiRreh died
T TH1? TN N ST T b S AR ?
3T A1 fRrEia 7 ST REvHeR Tfee 3TR.
3TN AR FEGHR Thie TSAd. ARG
Hifeeh Nfcsai 2R, TN FEHTE hel SIAw &
TR T 3T,

A AU wE e e A Q)@
1) g&ih 2) foerelt

3) Fehd 4) =

SRIUTE SRt Hfget Wfosain emet ?

1) <R )W DRR@
3) SfaRd 4) MM

IS IGUITATS T ATAITF 3T ?
1) Hefehel 2) T DRQR@
3) SRR 4) %

TS hiadl ST TeR NN TF-ret
S 9 vate faga =

TN SIS Frefed St 9ot 112 i

ez St STerean, &= Tesl

e T Sl B Ual Bt IR

TRV HAH HSI0T Hiesr=l

s Tordl T8, Siien Yorn SRt 11311
et - st T

FHigadios gt @ 9a? DRR@

1) 9El 2) mét

3) i 4) YRSl

T wesut fed s Tt s ?

1) &= )7 OOR®®

3) it 4) 9t

‘e e’ WIS EE 2 DOB@
1) UH S gEu 2) U HEFH S
3) UE GO SR UEU 4) I | gEl.

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

QIS §a18 e caraiie qyai=at
ST ar vE et

I : 93, T, R, fortt wmes ke .

Td : S T ? W ASEH ?

I ;390 Tl fHeg fRaeeia fohees seEm
&l ?

Td : B | ST TR ST

I : T R T SO0 €, A, forer Tl
Tiecd TMesl HEaal.

HaTeT R R 3 . (DR @)

1)2H 2) dH

3) =R 4) qr

1) =R 2) foheent

3) fafR 4) o=

HATAT VT WU 3o henl 382
OO®

1) S5 2) et

3) o 4) qieht

HAG A TS HUTE TR TS R0 ?
O20®

1)@ -@ 2) deffed

3) f 4) T

ATST=AT UEME ---- FWA TRUA A

TSI 3R @R wad. DORE)

1) Blidzssa 2) gt

3) fétan @ 4) B

T TGS ad SIS e ?

1) wreq 2) BDRR@
3) Toime 4) foes.

‘M MaTEE TgA TSt ured @t @
TS s vt 2 DRR@
1) e 2) T

D RGIEE 4) UT&d B,

‘smem O’ T 37 wE? DQQ@




1) T dam 2) TRE0] O
3) JeeTd WS 4) I3 0
Q.15 & =1 vieast THA 3veff v1sg wIvTar?
1) e 2) % DOO@
3) feR 4) g
Q.16 Tiem FEi=Al 3 76 wE ? DB @
1) e R) AR
3) HrATel 4) T[Tl
Q.17 T x 74 IYHN! G’ A VeI feorwed
31efi 9152 SRIUTN ? DOB@
1) 3TeE 2) HTE
3) Hare 4) =g

Q.1)

Q.1

Q.2)

Q.2)

Q.3)

Q.3)

Q.18 & = TEeuiion T T S B ?

Section II : Maths (30 Questions, 60 Marks)

91191 11 : 3If91d (30 U9, 60 IJ01)

The number 806 is read as ------—----- ?

1) Eight hundred and Sixty @DQ@Q® @
2) Eight hundred and Six

3) Eight zero Six

4) Six hundred and Eight

0IN]O]0)
2) 7Y TEl
4) TER 33

Arrange the following number in ascend-
ing order and write the third from the

1) 279 |18
3) 3713 I Tel

right? oO®®@
1) 963 2) 639

3) 636 4) 663

e e Teen s forgt & SereiteRgA
el G s @ steEE? (DRG)@)
1) 963 2) 639

3) 636 4) 663

Multiply 18x6 ? 00O
1) 90 2) 96

3) 108 4) 180

TR & 18 X 6 ? DO0@

DOB®®

1) ST 2) FF=IERI
3) |gHrE 4) STEHR

Q.19 Tue THEE SUhRESEN T QT ?
1) ST TR B 4. DOR®
2) IR SYRR =2l
3) ShIVMER YR e .
4) IUMERE! SUFR .

Q.20 =hiuTee TTe ffeame Wearadtes e
ierTa ? 00010
1) f&ten 2) fiaest
3) oIS 4) Fea.
1) 90 2) 96
3) 108 4) 180

Q.4) Write the number from its expanded
form: 40+300+2 DOB@
1) 432 2) 342
3) 324 4) 243

Q.4) fawarfia arsufterd g fosat.
40+300+2 DOB@
1) 432 2) 342
3) 324 4) 243

Q.5) Identify the shaded portion?
Q.5) 3Teidiie WTaeean TFTIE 3TYUTieh ShHIUTaT?

3 5

D3 2) 15 DRO®@
3 N3

3) 10 ) 10

Q. 6) Frame a multiplication question based on

the information give below. DQQR @
Cost of one pencil-box in Rs.25 Total num-

ber of pencil -boxes 25




Q.6)

Q.7)
Q.7)

Q.8)
Q.8)

Q.9)

Q.9)

Q. 10) Subtract : 895-362
Q. 10) IT@Tehl &1 : 895-362

1) What is the cost of one pencil box?

2) What is the cost of 25 pencil boxes?

3) What is the total number of pencil boxes?
4) 25+25

feoean Aot UTERRTEN I9H TR 4
Teht U@ UetE fhma €. 25 wRwW
e e 2572 D2BE
1) T Ufee weE fohea fadt 2

2) Yo ufEe Yot fehma fedt

3) TR UfES Yen fodt ?

4) 25+25

Add: 278+387 DOB@

S A 278+387 DOB®

1) 656 2) 666
3) 665 4) 655

Find the quotient: 864 -8 DB @

ORTIRR fehell o @M. 864 - 8

1) 18 2) 88 DOB@
3) 108 4) 808

What time does the clock show?

1112
10 12
9 ——3

5, i DOO@

1) Quarter past three 2) Quarter to three
3) Quarter past two

TS Tahedt A=t ?
1112

10 b

9 — 3
87 6 54

4) Quarter to two

0O]6)

1) FoarH
3) geal &F

2) e dF
4) g g9

00O]6)

0[0O]6)
1) 1257

3) 537

2) 533
4) 1253

Q. 11) How many months in a year are with 30

days? 06O]6),

Q. 11) Uemt guia 4 fEadi afg ferdt ?

D4 26 OOQ®®@
3)5 4) 7

Q. 12) Out of 60 passengers travelling in a bus
19 were men, 28 were women and the
rest were children. find the number of

children? DO20®

Q. 12) Teh 5 Wl 60 Tavaitent 19 g&9 3T
28 %o Bie ST W& gosrel Bl W

ot e fohdt ? 00010
1) 17 2) 23
3) 27 4) 13

Q. 13) Which of the following statement is cor-

00O0)
1) The number by which we multiply is called

rect.

the multiplicand

2) The number to be multiplied is called the
multiplicand

3) The number we get after multiplying is
called the multiplicand

4) Both 1 and 2 are correct

Q. 13) TSI HIUT I e 3T ?
1) 5o S8 & Tl Al . QD)@
2) =1 HEd T 3718 1 .
3) JH HEHEN PIRR HeAR AU TS
0 TR
4) Tai 1 M7 2 I SR 3T

Q. 14) In the month of August, Trupti was
absent in the school for five days. There
were 4 sundays in the month of August.
Saturday was also a working day. For
how many days was Trupti present in the

month of August ? 00O
1) 21 2) 26
3) 25 4) 22

Q. 14) TR wfg=ara et urel e vd sk
Bt Ufg=ra =R ferar 2. o vifer
I Brelt. R gt el e stmebd &R

et ? DOR@
1)21 2)26
3)25 4)22

Q.15) 6km=---------—- D@




1) 6000 cm 2) 600m
3) 6000m 4) 600 cm

Q. 15) 6 Tt = ~———-————- 0000
1) 6000 Tt 2) 600 Ht
3) 6000 it 4) 600 T

Q. 16) The door of a house is--------- in shape?

0INM]O16)

1) circular 2) square

3) triangular 4) rectangular

Q. 16) =RT=AT TR SMHR---——-—-— 1A
1) AR 2) FEDOB@
3) B 4) STl

Q.17) 414; 144; 404; 440; 441
If the above numbers are arranged in as-
cending order which number will be in the

center. 0016
1) 414 2) 144
3) 404 4) 440
Q.17) 414; 144; 404; 440; 441
T &A1 Tl ThUH BIEcATd HIuTdt
& REedl WHR B6? DRB)@)
1) 414 2) 144
3) 404 4) 440
Q. 18) The length of a book is measured in------
O]0OO0)
1) metre 2) centimetre
3) kilometre 4) millimetre

Q. 18) YEAehTE isit WSS Ueheh-—---—--~-

3 ? DO
1) "X 2) T
3) R 4) AR

Q. 19) Riya bought a pack of 100 chocolates to
distribute it in her class of 20 students.
How many chocolates did each child get?
12 23 O0®®
3) 4 4) 5

Q. 19) f@™ 100 Tiear=t Uk Urehie fo=an atidie
20 1 STV ST, TR Tk fehet

e fHesten? D@
1)2 2)3
3)4 4)5

Q. 20) Which of the following is incorrect?

DOB®®
o

2)

Q. 20) TS Yt Tehren aia Feer?

0000
(o)

(o)

Q. 21) From the smallest three digit even num-
ber using the digit 7, 0, 3 only once.

0OO]6)
Q.21) 7, 0, 3 ? 3ich UcheTl U4 14 3ieht Faid
TEH TH HEAl aa? DOBR@
1) 037 2) 307
3) 370 4) 730
Q.22 1Day= ------- hours OOB®
1) 12 2) 24
3) 30 4) 60
Q.22 1fe&® =----- @ DR
1) 12 2) 24
3) 30 4) 60

Q. 23-26) Information about student using
diffrent types of pencil in a class in given

below.
Q. 23-26) W Tedean femwu wifgdtas ug=i=

S foar?

Name of the pencil| Number of Students
e T aiieites ferementen wem

XXRRRRR

RRRRRRR

RRRRRRRRXAR

RRRRRRRR




23)  Maximum number of student use---------

pencils. 0016
1) Apsara 2) Lekha
3) Smart 4) Natraj
Q. 23) SITEda IR ferneff sh1oTdt Ufres amoRaTa’?
O]0OO0)
1) Apsara 2) Lekha
3) Smart 4) Smart
Q. 24) How many student are there in the class?
O]0OO0)
Q. 24) =i TR fereneft feheft? O]0OO0)
1) 27 2) 28
3) 35 4) 32

Q. 25) Which pencils are used by the same num-
ber of students? 00O

1) APSARA, LEKHA

2) LEKHA, NATRAJ

3) NATRAJ, APSARA

4) APSARA, SMART

Q. 25) HIUTCH HehRTeH UT=Hes aruRuTT=n fereneateit

& 99F 3R ? D2BE
1) APSARA, LEKHA
2) LEKHA, NATRAJ

Q.27) wikdia ama R T@? DB @
5751757
1) > 2) =
3) < 4) A

Q. 28) In the number 368 the place value and
face value of a digit is same. find the

digit? 0016
13 2) 6
3)8 4) none of these

Q. 28) 368 I TTAA Uk 3ichren TeMieh fhma &
TYIHI feha ARE 3112, R Al 37eh ShIUTaT?

1)3 )6 OO0@
3)8 4) TR HIOT R
Q. 29) 3 notes of Rs. 20 and 3 coins of Rs.5
make -------- Rs.? 0016
1) Rs.70 2) Rs.75
3) Rs.80 4) Rs.85
Q. 29) 20 Fu=A 3 el & 5 Ut 3 AR e
———————— IS 000@
1) %.70 2)%.75
3) %.80 4) %.85

Q. 30) Put the proper sign in the box -

3) NATRAJ, APSARA 14x8 [ ]8x14 0000
4) APSARA, SMART 1) > 2) =
Q. 26) How many students do not use ‘SMART’ 3) < 4) none of these
pencil? DD | . 30) frepren reria dra foreg =@,
Q. 26) fereit formeff ‘SMART’ Ui aovet Tt ? 14x8 ] 8x14 DOO@
1) 24 2)23 OOB®® > 2) <
322 421 3) = 4) Hel 9= =
Q. 27) Put the proper sign in the boxD Q@
Section III : Science (30 Questions, 60 Marks)
91181 111 : farsirer (30 w9, 60 3got)
Q.1 TEY 3 RV ? DOBR® 3) both (i)and (ii) 4) None of these
1) T 2) Ue .
Q.2  SiISligHUT BI SFHAHT Wi icsuchl ShIUTEhIUT
3) L AR IR 4) TR TR 7 BA? DOO@
Q.1  Whatis the food of the cow ? DR 3@ 1) 3 ared 2) I & BN
1) fodder 2) oilcakes 3) S UShEHH TN aTed




Q.2

Q.3

Q.3

Q4

Q4

QS5

Q.5

Q.6

Q.6

Q.7

Q.7

4) Tt TE

What changes do you observe as a seed-

ling grows? 00O©]6)

1) increase inheight ~ 2) decrease in height

3) it grows 4) none of these

TSI WA Ush! chITTea TehRId HIS?

1) el 2) I DRBR@

3) TS 4) 3R

To which category do we belong?
0000

1) plants 2) animals

3) aliens 4) none of these

WA Yeht ShITTAT WRT BTN 3Ted 377

1) o 2) "€ D@

3) Bl 4) @iel

Which of the following is the part of a

hand? 00O

1) fore arm 2) thigh

3) chest 4) abdomen.

FRE@E RS 3T 2 DORQ

1) HTeNES 2) TS

3) GiEes

4) 7T q Wi Aame

Where is the elbow situated?

1) near the wrist DO
2) under the upper arm

3) above the upper arm

4) None of these

WAhS IS I TTHsUhT
T I AR BA? (DRB)@)
1) & 2) B

3) TR 4) SR T
Which of the following part we use while
cycling? OI0O]6)
1) ears 2) arms

3) wrist 4) None of these
B, UIe & UTS 1 o8l S1aaai- Uehsiiauul-
———————— R DO
1) & 2) IR ST 9/
3) & 4) T TS 9RT

The chest, abdomen and back are to-

Q.8

Q.8

Q.9

Q.9

Q.10

Q.10

Q.11

Q.11

Q.12

Q.12

gether called the 0016

1) hand 2)leg

3) torso 3) None of these

T T Ueh! ShIUT 3Tede 3l ?

1) e 2)f OR0®

3) B 4) 9

Which of these are parts of elephant

1) Nose 2)bornsMRQB@

3) hand 4) None of these

Fit a1 fhgaren fordt ura 3reaT?

12 28 OO0®®

3)9 4)6

How many legs does a spider has?

12 28 OO0®®

3)9 4)6

qusal ud ugsarel famaret weuan

WUkl HITEEA Gei! 3R ?
0OO]6)

1) veT=a eulered 2) Ui

3) e’ 4) JOThEE

How do you think that man got the idea

of a aeroplane? DOOB®

1) seeing the flight of birds

2) seeing the flight of kites

3) sailing of clouds

4) None of these.

FEL HI TS s FIR . DOO@

1) T 2) Ued

3) Se1 HRA 4)3TTehTd 3

tortoise : walks slowly : : pigeon : ------
0OO]6)

1) creeps 2) swims

3) hops 4) flies in the air.

AU ShIUTAT Ught SRR Faid Wiat

3R? 0OO]6)

DN 2) YR

3) IR 4) SFMR

Which is the biggest of all birds?
0006

1) emu 2) ostrich

3) peacock 4) none of these




Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

WIS JHTE T HITAT?

1) 2% DQA®@
3) 2 d R TR 4)RARTH
Which of this is part of the plant ?

1) fruit 2)bud DQOR®@
3)both (1) and (2) 4) none of these
TR A TE 3R 2 DOO@
1) shidl 2) =i

3) Hoal 4)1493

Which of theseisaroot? DQR®®@
1) onion 2) chilly

3) raddish 4)both 1& 3
WUkl 9% ShIUT ? DOB@
1) rehet 2) TSR

3) IS 4) 2 9 3 TE TR

Which of these are climbers ? Q3@
1) cucumber 2) carrot

3) bittergourd 4)both (1) and (3)

We have days and nights because of

©O]6)

2) earth’s revolution
4) sun’s revolution

1) earth’s rotation
3) sun’s rotation

FUe FHEavamEt SRUM amt Sy

foresama? 00010

1) St 2) SHH

3) e 4) = TE

From where do fibres are obtain ?
OI0O]6)

1) plants 2) sky

3) ground 4) none of these

So5Te T I ? DORD

1) &d 2) WEE

3) Hi™ 4) 192 TR

What is the food of the 0x? DR @

1) grass 2) fodder

3)both (1) and (4) 1) flesh

Q.19

Q.19

Q.20

Q.20

Q.21

Q.21

Q.22

Q.22

Q.23

Q.23

Q.24

Q.24

Uit fivaEm w wWE? DO
1) Shcsed 2) 352 3

3) 1 92 SRR 4) wd I

How should we preserve water ?

1) by boiling D@
2) by keeping it covered

3) none of these

4)both (1) and (2)

gHHTeIe Hid TSt U shivrdn ?

1w )T OQB@
3) geAl 4) Tt

The biggest member of the solar system
is 0OO]6)
1) sun 2) Jupiter

3) Earth 4) Titan

AEATEA YR fehelt T 3TET ?

1) 600 2)700 DOB®®@
3) 800 4) 900

How many muscles are there in a human
body? 0OO]6)
1) 600 2) 700

3) 800 3) 900

IR He AaTaion ShiuTel s 316d?
1) & 2) T D@
3) g 3) T

Which part of the body controls all the

other organs ? DOOB®

1) Heart 2) Eyes

3) Brain 4) Stomach

SgehTeA o™ ----—-—- TEUTATa ?

1 fie 2T DQO@

3) Bl 4) SIgFAT

The young ones of the frog are called :
0OO]6)

1) young frogs 2) frog cubs

3) puppies 4) tadpoles

3T ;- ISt 3T AT ?

1) 3w 2) T D@

3) & 4) &8

Foods like egg and milk are good for
00O]6)

1) eyes 2) muscles




Q.25

Q.25

Q.26

Q.26

Q.27

Q.27

Q.28

3) heart 4) bones T:I;‘:ﬁ U0 3. ) OOB®
. . 1) 60% 2) 70%
q@@“i'“aa;' FRIT aef ng;;gg 3)80 % 4)90 %
1 W 2) o Q.28 - of our body weight is made up
of water OOB®
3) 399 4) firre 1) 60 % 2)70 %
Which bird does not build a nest for its 3) 80 % 4) 90 %
own? 0000
1) Crow 2) Sparrow Q.29 el & T ? D00®
3) cuckoo 4) vulture D g2t 2) TR
TaTeR Yeadn - - - —--—- Te AT ? 3 el W
1) freinm 2) et DOR@ Q.29 Which of the following is not a root
y - 00100
3) e 4) 1) Carrot 2) Radish
Which of the following is used to mea- 3) Potato 4) Turnip
sure the purity of gold. OOB®
1) kilograms 2) Litres Q.30 FEMN ~=-===-m- T STHAT.
3) Carats 4) Kelvin ;3 2 i; 2 0[O0
U EqHT ———————— IFAa?
14 2?? ) @ ) Q.30 Ants have --------—-- no. of legs
ol o E 26 DOA®
3)7 3)8
The human heart has -------- no.of Cham- ..
bers 010010 Q.22 TRt Heleiia THHS U1 SBEN ?
1)4 2)3 . OO0®
3)2 41 1) & foem 2) 3@ &
o y 3) T et 4) 38w
Section IV : Intelligence Test (20 Questions, 40 Marks)
o181 1V : geferTar aravit (20 194, 40 3[o1)
Find the odd term : DOOB®®
1) Cat 2) Dog
3) Camel 4) Bullock cart
fortie ug ot : 0000
1) AR 2) FN
3)3e 4) SHTER
Recognize the place given in the picture.
0[0lO]0)
ferdtes areq iowd TR A SieEt 1) Lal mahal 2) Taj mahal
DOOB®® 3) Red fort 4) Kutubminar
1) FGHEIS 2) TSRl
3) B foheal 4) PR




Q.3

Q.3

Q.5

Q.6

If you go to a picnic to a historical monu-
ment which of the following you should

not do? 006
1) Observe everything carefully

2) Throw leftover from your tiffin on the lawn
3) Walk along with the group
4) Read the information about the monuments

Ufreifter T wHear St Aearer Eeie
Uehl =hIUTH TS 2TeTe? DORD
1) Td TSt Feageish s,

2) SRS oS T XTI 2Tahul,

3) Gargre =10

4) Rt Aifeh Serqeieh s,

If we join 2 Kkites together like shown in
the figure, at how many points they would

be touching each other? 0016

fooma Trafacaume 9 udn UwHe
Sreear@ d feret feront Siee Sdie?
OO0®

EN

1 2)2
3)0 4)4

Madhukar had 12 marbles, out of which
he gave six to Sudhakar, Prabhakar had
16 marbles, he distributed it equally to
two of them. How many marbles will

Madhukar have now? 00O
)12 2)14
3)16 4) 15

TE[eR STee § R TN ATed, Tl & et
TR GUTRTST fGear. ATt 99 Q8

e wrdie e feen Mesn «m an
T T TR WY e fohelt e
Fres? DRO@
1)12 2) 14

3) 16 4) 15

Which of the following best describes a
bank? DOOB®

1) Where money can be deposited on inter-

Q.7

Q.9

Q.10

Q.10

Q.11

est.

2) Where money can be borrowed

3) Where you can keep valuable safely
4) All the above

WU ShIUTA T sk 2N sadid aed

e? 0l0lOl0)
1) oo ficsuaraet U siehd Saml.

2) SR STHTAE T SR s I,

3) HicHaH o] Fislexd Savarral.

4) T T RO,

Which of the following agent would con-

taminate water? 0016
1) Salt 2) Sugar

3)ash 4) Mint

T I T T BE?
1)t 2)TR DD
3) TG 4) gfe

1st August was on Monday. What would
be the date on next monday? QB3 @)
17 2)8

3)9 4) 15

Teh AT TR HIWEW 3W@S @, qesal
WA T aHE W0m? DRBR)@

1)7 2)8

3)9 4) 15

Which of the following is not a food for
cows? DOOB@
1) Grass 2) Fruits

3) Meat 4) Cereals
WSIGUH! T TS 7 a1 ?

1) T )% D@
3) || 4) g

For heating water which of the following
is not used commonly. DO
1) Cooking gas 2) heaters

3) Solar heaters 4) Oven

IOt AT feUeTTS! Wi ehl E9TTen SUHRT
B AT DOR@
1) ToRHTehT= 19 2)sid

3) | aisl 4) 92

How many living things are shown in the

given picture? DO




Q.11 TP ferma fordt wfta woft ana.

Q.12

Q.12

Q.13

Q.13

Q.14

Q.14

Q.15

Q.15

00O]6)

1)6 2)5

3)4 4) 8

‘Who would help you for delivering a let-
ter? 00O
1) Postmaster 2) Post man

3) Wireman 4) Telegrapher
T QrefeuarETet shiuTe TEd B ?

0000

1) TR 2) e

3) A 4) AR

Which bird does not build it’s own nest?
1) Peacock 2)EagleMQB@
3) Sparrow 4) Mynah
WAIGUeh! ehiuTdl gl SRS e 87

1) HR 2) " DB
3) fempoft 4) T

Which of the following city is closest to
seacoast? 0016
1) Pune 2) Kolhapur

3) Nashik 4) Ratnagiri
WHeHUeh! hITTd e TSI 312 ?

0000

1) @ 2) B

3) IR 4) T

Which is following colour is not present
on Indian flag? 0016
1) Orange 2) Yellow

3) Green 4) White

qRaTea fait Sieamer EEiGud! HIumE
T E? 0000

Q.16

Q.16

Q.17

Q.17

Q.18

Q.18

Q.19

Q.19

Q.20

1) =Rt 2) faaest
3) f&ten 4) ieq
If I have 10 coins of 2 rupees and 3 coins
of S rupees and 6 coins of rupees one,
Find the total amount with me.
0OO]6)
1)Rs. 26 2)Rs. 31
3)Rs. 41 4)Rs. 30
R UIE Wees 2 BULE €@l AT, e
HOUIE A 0T 31U Uk U § ATOR
3N, T HTEAT Seieb Rl fehelt HUL M2 ?
0OO]6)
1)%. 26 2)%. 31
3)%. 41 4)%. 30
Which figure will come in place of the ques-
tion mark? DOOB®
YyATergreal SRM ShIUT SATehdl 507
A ?
Q] [0
‘Mr. and Mrs. Bhosale have six mem-
bers in the family’ How many time letter
a appears in the above sentence.
14 23 0O00®
3)5 4)2
. g 9. A qiea WA TR FESI0T
AT’ S AT fehelIdiest | 3T 3T ?
12 23 0O00®
3)5 4)4
Find the odd term DOOB®
1) Bus 2) Auto rickshaw
3) Car 4) Train
fortie wg etesn - 00016)
IDER] 2) Ren
3) RR 4) &
Find the next number 0016




7,13, 20,27, ? Section IT /9T 1T :
1)32 2)33
334 935 L2223 |3]4]2]5]2
Q.20 anm DB 6.12)7.13) 8 [3)]09.13) [10.] 2)
71,13,20, 27,7 1.l D [12.] 4 [13.] 2) [14.| 4 [15.] 3)
1)32 2)33
3) 34 4)35 16.| 4) |17.| 1) |18.] 2) [19.] 4) | 20.| 3)
21.] 3) [22.12) [23.| 3) |24.| 4) |25.]| 1)
26.| 3) [27.13) [28.| 3)|29.]2) |30.] 3)
Answers/?»?ﬁ: .
Section ITI / 9WT 111 :
Section I : Lyl lalalnls]2
1.12) 2.3 |3.|D)|4. 4|5 |3
) ) ) ) le 271318 o] 2 10D
6. | D71 D8 [3]9|4]10]2
) ) ) V10D T Ta (12 2 18] 3) [14.] 4) [15.] 4
1. D |12.] 2) [13.] 1 3 1
) VB3 D D)5 D ey Tir] o (18 3 [19.] D [ 20, 1)
16.] 3) [17.]| 4 .2 1 2
6.1 3) |17.| 4 |18.] 2) 119.| D20 2 {1 [ T35 13) (23] 4) [24.] 4) [ 25.] 3)
o I 26.| 3) [27.] 1) [28.] 2)|29.]|3) |30.]2)
L2 .13 ! 13 !
1 )| 2 )| 3 )| 4 )| 5 ) Section IV /49RTIV :
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0. D12, 3) (13| 3) (14| D15 2D ([ 19| 7.3 ]8 2109 |3)]10.] 4
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